ge, Pennsylvania seats 106,572 people. Which |

, Michigan seats

There are 465 flowers planted in a city park. For
' an upcoming festival, the park service plants 1,000

1 new flowers. Write the new total of flowers in

1

expanded form and word form.
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- 109,901 pecple. The football stadium in State

.
~ city has the stadium with the smaller seating

1 The football stadium in Ann Arbor

EXPANDED FORM:

| PROBLEM 2
WORD FORM:
| PROBLEM 4
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two hundred nine
© six hundred thousand forty-two and two

hundred nine
@six hundred forty-two thousand, two

@ six hundred forty-two thousand, twenty-
six hundred thousand forty-two thousand,
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1 PROBLEM 1

1
u
5 Choose the correct word form of the number.
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